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8:30 wmHEA - [IERA | EHEB - EFEB (A)IIBull - ZFhBEull

1 AT vIL: ELEB AT vIL: BHEU11 AT vw)L £lIEB
= ¥ BHIEA A=A 1=HIEB E%E8B AlllEu1l =LBU11
9:30 TREB - ZEIWUEB | IBEA - EWLUEA [FEEUIl - EEEULL

2 AT vIL alllEA AT v EHIEU11 AT v) ELEU1L
= ¥ $EIEB =LEB FURIEA =B A $UEIEU11 EFEU11
10:30 EFFEA - @wBHEA | EFEB — SWEA | G/IEB - EHEB

3 AT vIL EIER AT vl FRIEA AT v EHEU11
= ¥ EHEA BHIEA E%HER ELEA alllEB 1=HEB
11:30 fBHEBEUI1 - BLEBULL|FTEERU1L alllRull] AIIIEBA — ZEILEB

4 AT v BHEA AT v): RFFIEB AT AllEB
= ¥ wHEU1L =LBU11 $UEEU11 AlllEu1l alllEA =LEB
12:30 eBEA — EFEA | $EEB — HJIEB | #HEB — EWEB

5 AT vIL EHEU11 AT v AlllBu1l ATl allEA
= ¥ FURIEA EHEA $UBIER allEB 1=HIEB =LEB
13gp [FEFRULL - SHRULL[EILAUIL - #WBIRULL| MBIRB — RERRB

6 FAT14vIL fBHEA AT SILE A AT v =LEB
= ¥ EEULL wBHEU1L =LBU11 ¥rEIEULL $URIEB E%HER
14:30 EFFEA — FAJIIEA | BIEB — SBWLEA | ¥F7EEA — wBHEA

7 AT vIL #EHIEB AT v FRIEULL AT $EIER
= ¥ EHEA A=A alllEB =ELEA FURIEA BHIEA
15:30 B)IEUull - \HEBUll|ELRUull - EFFEU11

8 ATl EHEA AT4SvIL E%HER
= ¥ AllEu1l wBHEU1L =LBU11 EFHEU11
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Sa | BsRs AJ— ~CKRPV-1) B J1— ~(CKPV-1) C— b(R7Y-1)
8:30 wmHEA - AIRA | EHEB - EFEB (A)IIEBull - FLhEull

1 AT vIL: EILEB AT vIL: BHEU11 AT vw)L £lIEB
= ¥ BHIEA A=A 1=HEB E%E8 AlllEu1l =LBU11
9:30 TREB - ZEIUEB | IBEA - ELUEA [FEEUIl - EEEULL

2 AT alllEA AT v EHIEU11 AT v) ELEU1L
= ¥ RSB =LEB FURIEA =ELEA $UEIEU11 EFEU11
10:30 EFEA - wBHEA | EFEB — SWEA | G/IIEB - EHEB

3 AT $EIER AT FRIEA AT vl EHBEU11
= ¥ EHEA BHIEA E%HER EILEA alllEB 1=HEB
11:30 fBHEBEUI1 - BLEBULL|FTEERU1L alllRull AIIIEBA — ZEILEB

4 AT v BHEA AT v): RFFIEB AT v allEB
= ¥ wHEU1L =LBU11 $UEEU11 AlllEu1l A=A =LEB
12:30 eEA — EFEA | $EEB — HJIEB | #HEB — EWEB

5 AT vl EHEU11 AT AlllBu1l AT vl allEA
= ¥ FURIEA EHEA $UBIER alllEB 1=H1EB =LEB
13gp [FEFRULL - SHRULL[ELAUIL - #MBIRULL| MBIRB — REFRB

6 FAT14vIL fBHEA AT v SILEA AT4SvIL =LEB
= ¥ EEULL wBHEU1L =LBU11 ¥rEIEULL RSB E%HER
14:30 EFEA — FAJIIEA | BIEB — SBWLEA | F7EEA — wBHEA

7 AT #EHIEB AT v FRIEULL AT RSB
= ¥ EHEA A=A alllEB =LEA FURIEA BHIEA
15:30 B)IEUull - \HEBUll|ELRUull - EFFEU11

8 AT EHEA AT4SvIL E%HER
= ¥ AllEu1l wBHEU1L =LBU11 EFHEU11

17:00 IREE




